
07 & Up Hyper 600 Partial Chassis Bolt Kit

Part Number Description

981-04-28-.62 1/4-28 x 5/8 HHCS Ti

976-04-28 FULL 16

12-050TI 4 kits

05-1291 Bearing Carrier 1/4-20 x 1-15/16" Bolt Kit (8 bolts) Titanium 1 kit

05-129 Bearing Carrier 1/4-20 x 2-1/8" Bolt Kit (8 bolts) Titanium 1 kit

40-2221 2

40-2222 2

65-300TI 1

981-06-24-1.50  3/8-24 x 1 1/2 HHCS Titanium 2

981-07-14-1.25 7/16-14 x 1-1/4 HHCS Titanium 4

981-07-20-1.25 7/16-20 x 1-1/4 HHCS Titanium 6

981-07-20-1.50 7/16-20 x 1-1/2 HHCS Titanium 4

981-07-20-1.75 7/16-20 x 1-3/4 HHCS Titanium 2

981-07-20-2.00 7/16-20 x 2 HHCS Titanium 1

983-06-24-2.00 3/8-24 x 2 FHCS Titanium 2

656-206TI Engine Bolt Kit 600cc Rear Titanium 1 kit

981-04-20-.88 1/4-20 x 7/8 HHCS Titanium 32

Quantity
22

1/4-28 Nylock Full Nut
Bumper/Ne� Bar Bolt Kit (4 bolts) Titanium 

7/8 Torsion Jacker Bolt Titanium 
7/8 Torsion Jacker Nut Titanium 
Engine Jacker Bolt Titanium


